Equations and constants for Final Exam, CHM 3400, Fall 2015

You are responsible for knowing the conditions under which the equations apply.
1 atm = 760 Torr = 1.01325 bar

R=8.31451 J K mol™ =0.0831451 L bar K mol™" = 0.08206 L atm K' mol’’
1Lbar=100J, 1Lbar=100J, 1J=1kgm’s”', Na=6.022x 10* mol’
g=98lms?c=300x10°ms”, m.=9.10938 x 10~ kg

F = 96,485 C mol ', R—FT =0.0257V at 298K, 1V=1JC
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Thermodynamic relationships

AS = -nR(xalnxa + xglnxp)

dG = -SdT + Vdp
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Mixtures

AC, = 2vCy(Prod.) — 2vC, (React.)
AH(T?) = AH(T) + AC,AT

AG=nRT(xalnxa + xglnxp)
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Equilibrium
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Electrochemistry
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Kinetics
[A] = [A], — Kt
[A] = [A],e™™
1 1
@,
li2 = 1r1_2
k
1
li2 = m
k = Ae~Fa/RT
Integrals
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